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I Simplifying 6.42x0.3 gives 8. Given that 5/8 of the child'ren_in a school are
A 1.826 boys, the ratio of boys to girls is
B 1826 g g?
C  1.926 c 538
D 1926 D 83
7 The valne of 4 in 2,045 is 9. The distance between two points A and B on a
: A ) 0.04 ' map is 7cm. Given that AB=21km on the
) ground, the scale on the map is:
B 04 A 13
C 0.004 B 1:3,000
C  1:30,000
D 40
D 1:300,000
3. Given that —3 < x, then the symbol < means 10. An infinite set in the following is:
A Strictly less than A {1,3,5,7}
B Less than B {2,4,6,8}
C Equal to C {1,2,3,..}
D less than or equal to b R CO )
4, Evaluating % + % gives I1.  Given the set B = {1,2,3}, the number of
49 subsets of B is:
3 A 24
A B 2%
B 8 €2
= D 2
C 8 12.  Given the statements: p: He is short.
3 q: He is fat.
D ﬁ Then~pAgq is:
3
- A Heistall and fat
o The number 0.000345 in standard form is B Heis short and fat
5
A 345x10 C  Heis tall and thin
B:  3.45x% 10-* D  He is short and thin
4
C  345x10 13. In the truth table in figure 1, X represented
D 3.45% 10-3 symbolically is:
A =
. . \%
6. The number 500,737 given to three significant B g,\g Llidl
figures is: C' p=q S LF T
A 500,000 D. pe g LT
B 501 FIFIF
C 501,000 Figure 1
D 500,700

14.  Given thatf(x) = x? — 5x — 6, then f(2) =

A computer can print 1800 words in 5 minutes.

Working at the same rate the number of words A 20

that can be printed in 7 minutes is

A 2520
B 1275
C 1440
D 720

B 12
cC o0
D -2
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IS The arrow diagram in figure2 shows the
relationship between M and N.
The domain is

A {1,4,9,8,16} Figure 2
B (1,2,3,4)
C {14916
D

{1,4,3,8,16)

16. Given the functionf: x v 2x — 3, the inverse
function is
A x =3

B x

2
C x+3

D 3x

17. In figure 3, the diagram that represents a reflex

&r\

D

Figure 3

Figure 3

18. The diagram that represents a plane figure is:

3i

2020/0570/1/CIMCQ

19. The sum of the interior angles of a triangle is:

A 90°
B 180°
C 120°
D 360°
20. Figure 4, shows two similar cubes. The

ratio of their lengths is 1:2. The length of
the smaller cube is 5cm. The volume of the
bigger cube is:

27cm?
125cm’
100cm?
1000cm’

oW >

Figure 4

21, In figure 5, the lines that enclose angle 6 are
POand Q6 ?
PRandQR Q
PQ and PR

PQ and RQ

0

TOw>»

Figure 5

22. In figure 6, O is the centre
of the circle. Angle SQR = 36°. The value of
angle 8 is:

A T72°
B« 36°
c 1§
D 54°

Figure 6

Go on to the ne:

f®Edukamer



Edukamer
Draft


23.  Infigure 7, the value of y is 29.  Inthe expression of 2x(5 — 3x) the coefficient
of xis
A 105 Sy A 10
B 4
B 75 ' c
D 45° 30. Given thatx = —4, y = 9, the value of
y—x2is
‘ A 17
B 13
N c 7
D -7
Figure 7
31.  Given the expressions 2xy and 6x2y, the
24, Given that the circumference of a circle is common factor is:
132cm and takingm = 22/7, its radius is .
A 2lem A 2y
B 49cm B 2x2
C l4cm C 2xy
D 7cm D 2xZy
25, A solid cuboid of length 10cm has a square 32. Given that V = mr?l, expressing 7 in terms
cross section of side 8cm. The volume is of V,mand | gives
A 640cm? ' 2 -
B 100cm® AY B |%c(Y) b.L
C  80cm?
D  640cm’®
- ] - 33. The interval represented on the number line is
26.  The point P(3, -2) in the Cartesian plane :
x —y is found in the —— G—
A Fourth quadrant 2 8
B Third quadrant A (2,8)
C  Second quadrant B [2,8]
D  First quadrant Cc (2,8]
- i "D ]12,8]
27. The coordinates of the midpoint of the line
segment joining the points A(5,6) and B(-1, -4) 34. The solution of the inequality3 — 5x > 18 is
- are
A x=>3
A A(2) B x>-3
B Al
C A®@42) C x<=3
D A(-2-1) D x=<3
28. Given the equations of the straight lines 35.  Figure 8, is a network. The number of arcs is
x+y=4andy =1+ x. The coordinates of R
the point of intersection are: A.3
B. 4
A (1,2 C.5
1 T S
B (13,2 D.2 _
c (13,29 Figure 8
D (23,13
2020/0570/1/C/MCQ Go on to the next page hy
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40.  Giventhatd=5i+ 7j and b =4i- 5], then
36. Given that 52* = 125, the value of x is: 5
a- 2bis
A -31-3)
s 2 B 3-17]
q g C  3i+3f
3 D -3i+17)
C 2 — 5 S ;
D 3 41, Given the vector Op = 21 4], the direction of
the vector is:
37. Figure 9, is a right-angled triangle. The value A 63-4:
of his B 266
c 90°
D 116.6°
A 1 = = .
B 1?2,:? 1 42, Two vectors ait2] and 61+ 4j are said to
C  17em meet at right angles. The value of a is:
D  84.5cm % %
w B 3
Figure 9 e L
38. Given that the triangle in figure 10, is right- D _32
angled at R, sin x is: T
w3l .
A E P 43. The order of the matrix; m = (_ c 7 ), is
RQ
B PR i A 3x2
PQ B 2x6
C RQ C 3x6
PQ D 2x3
D RQ
= . . _(3 4
PR Xg 44, Gwensthe ;natnces M= ( 1 _z)and
N=(>, 1) thenM+N=
: A
Figure 10 (8 6)
39. Figure 11, shows the angle of elevation of X B 4 3
from Z to be 50°. The angle of depression of Z 8 6
from X is (_2 _2)
c
A 500 x
- 8 (6
B 40° ey
cC 90
D  140° D
8 6
(5 5
500
Y Z
Figure 11

'
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45. The image of the matrix (x,y), translated by
' the matrix (6, 2)is (—3, —2). The matrix (x, y)
is

A (_31 O)
B (-9,0)
C (-3,—-4)
D (—9,—4)

46. The mode of the scores 3, 2, 6,5,1,4, 2, 3,6, 3,
2,2,7,4,21s
1

oOw>
o LN

47.

x| 1-5 [6-10 | 11-15 [16-20 |21-25
f14 1 2 3 0
The number of classes in the above frequency
distribution is

A3 B.4 C.5 D.10

48. The lower quartile of a cumulative frequency
curve is at the

25" percentile

50" percentile

75" percentile

100™ percentile

o0 @ >

49, Given the set S = {1,2,3,4,5,6,7,8,9,10}, the
probability of selecting a prime number from S
is

50. Given the events £ and F such that
P(E N F) = P(E)P(F), then the events
E and F are

A Mutually exclusive
B Independent
C  Complementary
D  Exhaustive
STOP

GO BACK AND CHECK YOUR WORK
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